LOOK AT THE PICTURES AND CLICK ON THE CORRECT SENTENCE.

A)
1. THE CAPTAIN IS WEARING BLACK BOOTS,
BLACK TROUSERS AND A WHITE COAT.

2. THE CAPTAIN IS WEARING BLACK TROUSERS, A
RED COAT AND A WHITE SHIRT.

3. THE CAPTAIN IS WEARING A RED COAT, BLACK
TROUSERS AND BROWN BOOTS.

B)

1. THE PIRATE HAS GOT A PARROT, AND HE’'S
WEARING A BLUE VEST AND PINK TROUSERS.

2. THE PIRATE HAS GOT A PEG LEG, AND HE'S
WEARING A BLACK SHOE AND A RED T-5HIRT.

3. THE PIRATE HAS GOT A BEARD, AND HE'S
WEARING A BLUE VEST AND A BLACK SHOE.

c)
1. THE PIRATE HAS GOT A BANDANA, AND SHE'S

m WEARING A PURPLE SKIRT AND BLACK SHOES.

o ‘.'& : 2. THE PIRATE IS WEARING A SKIRT, BLACK SHOES

ik '?l S AND SHE HAS GOT A HAT.

3. THE PIRATE HAS GOT A RED BANDANA, AND
x - SHE'S WEARING A SKIRT AND GREEN SHOES.

D)
1. THE PIRATE CAT HAS GOT AN EYE PATCH, AND
IT'S SLEEPING.

2. THE PIRATE CAT HAS GOT AN EYE PATCH, AND
IT'S JUMPING.

3. THE PIRATE CAT HAS GOT A BLACK EYE PATCH,
AND IT'S FLYING.




